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Assist control algorithm

Calculate PBW

Volume control

VT = 8 ml/kg PBW
Set initial ventilator rate to maintain baseline minute ventilation (do not exceed 35 bpm)

After 1-2 h VT = 7 ml/kg

After 1-2 h VT = 6 ml/kg

Measure Pplat every 4 h and 
after each change in PEEP 

or VT

Decrease VT in 1 ml/kg steps. 
Do not decrease below 4 ml/kg

Increase VT in  1 ml/kg steps until 
Pplat >25 cmH2O and VT = 6 ml/kg

If breath stacking or severe dyspnoea 
occur VT may be increased to 7-8 ml/kg 

if Pplat remains ≤ 30 cm H2O

pH

Increase set RR to 35. If RR=35 
and pH<7.15 and NaHCO3 has 

been considered, VT may be 
increased in 1 ml/kg steps until 

pH>7.15 (Pplat target may be 
exceeded)

Increase set respiratory rate (to a
maximum of 35 bpm) or until pH 7.3 or 

PaCO2<3.25. If RR=35 and pH<7.3 
NaHCO3 may be given.

Decrease set respiratory 
rate until patient RR>set 
RR (do not decrease set RR 
below 6 bpm)

Pplat<25

Pplat 25-30

Pplat>30

pH<7.15

pH 7.15-7.3

pH>7.45
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PRVC algorithm

Calculate PBW

Pressure regulated volume control

VT = 8 ml/kg PBW, Upper pressure limit = 35
Set initial ventilator rate to maintain baseline minute ventilation (do not exceed 35 bpm)

After 1-2 h VT = 7 ml/kg

After 1-2 h VT = 6 ml/kg

Measure PAW every 4 h 
and after each change in 

PEEP or VT

Decrease VT in 1 ml/kg 
steps. Do not decrease 
below 4 ml/kg

Increase VT in  1 ml/kg steps until 
PAW >25 cmH2O and VT = 6 ml/kg

If breath stacking or severe dyspnoea 
occur VT may be increased to 7-8 ml/kg 

if PAW remains ≤ 30 cm H2O

pH

Increase set RR to 35. If RR=35 
and pH<7.15 and NaHCO3 has 

been considered, VT may be 
increased in 1 ml/kg steps until 
pH>7.15 (Upper pressure limit 

may be increased and PAW target 
may be exceeded)

Increase set respiratory rate (to a 
maximum of 35 bpm) or until pH 7.3 or 

PaCO2<3.25. If RR=35 and pH<7.3 
NaHCO3 may be given.

Decrease set respiratory 
rate until patient RR>set 
RR (do not decrease set RR 
below 6 bpm)

PAWt<25

PAW 25-30

PAW>30

pH<7.15 pH>7.45

“Limited breath” or “high 
airway pressure” alarm
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Pressure control algorithm

Calculate PBW

Pressure control

Set pressure to achieve VT = 8 ml/kg PBW. Set initial ventilator rate to 
maintain baseline minute ventilation (do not exceed 35 bpm)

After 1-2 h adjust pressure to achieve VT = 7 ml/kg

After 1-2 h adjust pressure to achieve VT = 6 ml/kg

Measure VT and 
PAW every 4h and 

after each change in 
PEEP 

Decrease pressure to 
decrease VT in 1 ml/kg 
steps. Do not decrease 
below 4 ml/kg

Increase pressure until 
PAW >25 cmH2O and VT = 

6 ml/kg
If breath stacking or severe 

dyspnoea occur pressure may 
be increased to increase VT to 
7-8 ml/kg (keep PAW ≤ 30 cm 

H2O)

pH

Increase set RR to 35. If 
RR=35 and pH<7.15 and 

NaHCO3 has been 
considered, pressure may be 
increased to increase VT in 1 

ml/kg steps until pH>7.15 
(PAWt target may be 

exceeded)

Increase set respiratory 
rate (to a maximum of 35 
bpm) or until pH 7.3 or 
PaCO2<3.25. If RR=35 
and pH<7.3 NaHCO3

may be given.

Decrease set respiratory 
rate until patient RR>set 
RR (do not decrease set 
RR below 6 bpm)

VT<6ml/kg 
and PAW<25

PAW 25-30

VT> 6ml/kg 
or  PAW>30

pH<
7.15

pH 7.15-
7.3

pH>7.
45


